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Listening Comprehension

P Task 1 In this section, you will hear five short dialogs. After each dialog, there
is a recorded question. The dialogs and questions will be spoken only
once. When you hear a question, you should choose the correct answer

from the four choices marked A, B, C and D.

. A. It 1s successful. B. It is necessary.
C. It 1s good. D. It is unnecessary.
2. A. Two. B. Three. C. Four. D. Five.
3. A. Women. B. Men. C. Career women. D. Career men.
4. A. He likes to do the survey. B. He hates to do the survey.

C. He doesn’t know how to do the survey. D. He doesn’t have time to do the survey.

5. A. Salesman. B. Secretary. C. Doctor. D. Teacher.

P Task 2 |In this section, you will hear two long conversations. After each
conversation, there are some recorded questions. The conversations
and questions will be spoken twice. When you hear a question, you
should choose the correct answer from the four choices marked A, B, C

and D.

Conversation 1

6. A.150. B. 200. C. 300. D. 450.
7. A. 26 to 30 year olds. B. 16 to 30 year olds.
C. 16 to 25 year olds. D. 20 to 30 year olds.
8. A. Chinese brand.  B. Foreign brand. C. New brand. D. Old brand.

Conversation 2

9. A. Good. B. Bad. C. Just so so. D. Excellent.
10. A. It 1s fine and cheap. B. It 1s bad and cheap.
C. It 1s nice but expensive. D. It 1s OK but expensive.

P Task 3 In this section, you will hear a short passage. After that you will hear
five questions. The passage and questions will be spoken three times.
When you hear a question, you should complete the answer to it with a
word or a short phrase (in no more than three words).

11. What does this report mainly talk about?
The report mainly talks about China’s in 2005.
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12. What was the reason for the negative profit growth in 20047

The negative profit growth could be attributed to the sharp price fluctuation of
and energy sources.

13. What was the result of all the negative factors in 20047

Because of all the negative factors, in 2004 greatly declined.

14. What will the automotive manufacturers and organizations do in the future?

The automotive manufacturers and organizations concerned will upon
the progress.

5. What is the report based on?

The said report 1s based on the data from China Association of
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Words and Structures

P Task 1 Complete each statement by choosing the appropriate answer from the

!\J

10.

[1.

15.

. They ate a seven-course meal,

four choices marked A, B, C and D.

drinking three bottles of wine.

A. however B. as well as C. as D. meanwhile
We have no but to carry on with our work.
A. alternation B. alternate C. alternative D. alternant

This company’s sales has been very successful.

A. promotion B. production C. emotion D. promoted
All the arrangements should have been completed to our departure.
A. ahead B. next C. before D. prior

The two countries have reached a on their national borders.

A. promise B. agreement C. compromise D. comprehension
The students are to hand 1n their assignment this weekend.
A. expecting B. expected C. inspecting D. inspected

a quite ordinary star, like the sun, the earth 1s small indeed.

A. Compared with  B. Compared to C. Comparing with ~ D. Comparing to
Plain, simple clothes are for school wear.

A. improper B. appropriate C. fitting D. suit

You must your promise if you want your friends to trust you.

A. complete B. finish C. accomplish D. fulfill

He up writing poetry while he was at school.

A. took B. picked C. started D. made

[f you on vacation, your house wouldn’t have been broken into.

A. didn’t go B. haven’t gone C. hadn’t gone D. don’t go

The world’s of o1l has increased rapidly in recent years.

A. consume B. assume C. consumption D assumption
Children like to catch the fireflies which can light at might.

A. send B. emit C. show D. produce

You said just now that your factory is in New York, but can you be a little more ?
A. special B. specific C. especial D. particular

[ see animals living in their natural state rather than in zoos.

A. would rather B. prefer to C. would like D. want
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P Task 2 Match the words in the left column with the words in the right column to

form expressions.

16. target A. interview
17. market research B. valuation
18. product C. positioning
19. promotion D. market

20. consumption E. line

21. corporate F. report

22. market G. strategy
23. brand H. identity
24. questionnaire I. structure
25. depth J. survey

P Task 3 Fill in each blank with the proper form of the words given in the brackets.

26.
27.
28.

29.
30.
31.
32.
33.
34.
3.

Golf has gained (popular) among the wealthy in the country.

[f you work hard, you’ll get many good chances of (promote) in this firm.

Imports in the first three months have increased by 10 percent (compare)
with the corresponding period last year.

Please (specific) when you will be in the office tomorrow.

[ tried to (comfortable) her after she was defeated in the competition.
She made several (purchase) in the department store.

We should have the full (aware) of our own shortcomings.

The visitors were greatly impressed by this manager’s (efficient).

The country 1s heavily (depend) on its exports of agricultural commodities.

[ don’t know whether he 1s (will) to attend the meeting.
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Reading Comprehension

P Task 1 In this part, you'll have 15 minutes to go over the passage quickly and

answer the questions.

For statements 1-8, mark

Y (for YES) if the statement agrees with the information given in the passage;
N (for NO) if the statement contradicts the information given in the passage;
NG (for NOT GIVEN) if the information is not given in the passage.

Although automobiles were invented over 100 years ago, great development has
been achieved 1n automobiles during the last forty years. The 1950°s witnessed the broad
introduction of automatic transmissions and electric servo actuators. The automotive
development at the end of the 60’s and the beginning of the 70’s was marked by the stiffening
of exhaust-gas regulations in the United States and other Western countries. During the
1970’s, the fuel consumption of automobiles became the focus of worldwide research,
but from the middle of the 1980’s, a trend to high-output engines began. This trend 1s still
predominant today as signified by the appearance of the four-valve technique, supercharger,
and six- to twelve-cylinder engine. Substantial technical advances have been achieved during
the last decade in such automobile areas as the closed-loop controlled catalyst, the four-valve
technique, the four-wheel drive and steering, etc.

Since so many technical advances have been achieved in automobiles, some people think
that 1t 1s impossible to have any further improvements in future automobiles. But this i1s not
true. On the contrary, it can still be safely said that the automobile as a means of transportation
still has long developmental potential. The future automotive development, including design
and manufacturing, will be largely influenced by three factors. That 1s, electronics, materials
and computer. First, electronics has played an essential role in almost all technical solutions.
[t can be said that only electronics can make a step forward from a mere governing action
to closed-loop control. Second, progress in automotive engineering has always been closely
tied to progress in material science. The use of new lightweight materials can improve road
performance and reduce fuel consumption. Third, computer is the new 1mportant technology
used for further improvements in automotive engineering, design, measurement and test
techniques, etc. So the three factors play a decisive role in the future development of
automobiles.

. Automatic transmissions and electric servo actuators were mvented in the 1950’s.

2. The fuel consumption of automobiles became the focus of worldwide research at the end
of 1960°s.

3. The trend to high-output engines began from the middle of 1980’s.

4. Substantial technical advances in four-valve technique have been achieved during the last
decade.

5. Since so many technical advances have been achieved in automobiles, it 1s impossible to
have any further improvements in future automobiles.

6. The use of new lightweight materials can reduce the weight of automobiles.
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7. Only computer can make a step forward from a mere governing action to closed-loop
control.

8. Computer 1s used for further improvements in automotive engineering, design,
measurement and test techniques.

P Task 2 Read the following passage and choose the best answer from the four
choices marked A, B, C and D.

[’'m here today to present my research about the advertising campaign for the new type of

POLO. Since this is a new product, our main goal is to establish brand awareness among our
target audience, which 1s working women, mostly aged 25 to 40.

According to my figures, of the working women we polled, a full 80% said they watch at
least one hour of television each night, 50% said they read at least one of the top-five selling
women’s magazines, and 35% said they like surfing the Internet.

[f you’ll take a look at this chart, the best media mix, then, would be a combination of TV,
magazine and Internet advertisements. I suggest 55% toward the budget go toward spot ads.
30% toward print ads, 10% toward Internet ads, and 5% toward outdoor advertising.

To conclude, even though our target audience 1s clearly defined, introducing a new product 1s
always a gamble. But with the proper media mix we can certainly lessen the chance of failure.

9. The main goal of this advertising campaign 1s
A. to find out the target audience
B. to learn about the popularity of the product in the market
C. to establish brand awareness among target audience

D. to decide advertising media

10. What's the target audience of this new product?
A. Women aged 25 to 40. B. Working women.
C. Working men. D. Men aged 25 to 40.

1. The phrase “spot ads™ (Line 2, Para. 3) most probably means

A. newspaper advertisements B. TV advertisements

C. magazine advertisements D. Internet advertisements

2. Which 1s the best media mix according to the reporter?
A.TV.
B. TV and magazine.
C. TV, magazine and Internet.
D. TV, magazine, Internet and outdoor advertising.

3. What 1s the attitude of the reporter toward this advertisement project?
A. Optimistic. B. Pessimistic. C. Worried. D. Indifferent.

P Task 3 Read the following chart and complete the sentences below with the
information given in the passage.

Thank you for choosing Bai Mao Washing Powder. We hope that you will take five
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Unit 1

minutes to fill in this questionnaire, for the information provided through this survey will
help us 1dentify the market. We greatly appreciate your assistance and invite you to enter our
drawing to win a year’s supply of Bai Mao.

14,
15.

16.

17.

[8.

Packaging

B too large

The Bai Mao pack 1s too small
the right size

------------------------------------------------------------------

B cye-catching

The colors of the pack are

unnoticeable
Product
B rcally white
Bai Mao gets my whites dull gray
makes no difference
| , one day
Bai Mao makes my clothes smell nice
B two days
for
three days
alpine fresh
My favorite Bai Mao smell is summer meadow
B spring flowers
. . o 1 " Bl Retail B Distributor
x rousth W at means YOuid you be Direct mail Mail order catalog
most likely to purchase this product?
Internet B Telephone order

B In the supermarket

Where do you usually buy Bai Mao? In the local shop
Somewhere else

Prize Drawer

Please tell us why you use Bai Mao in less than 100 words. The winner will be drawn
on May 5, 2010 and win a year’s supply of Bai Mao.

What attract me most are the smell and the relative low price of this product. 1'd like
to use it every day.

The information provided through this survey will help them

About packaging, the questions concern two elements, namely the of
the pack.

The customer thought that Bai Mao could get his white clothes

Customers would be most likely to purchase this product through the following channels
like

are the elements that most attract the customer.
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P Task4 Read the passage and complete the statements that follow the
questions. You should write your answers in no more than three words.

Financial crisis sweeping throughout the world in 2008 hit the global car market which
had been steadily rising before the crisis. In 2009, global car sales reached about 63 million
units, down 8% year on year (5 254 [6] Hi#H 1 ). Booming China surpassed the United States
as the largest auto country in 2009. Among the top five auto countries, car sales of the United
States decreased 22%, Japan dropped 8% while car sales of Germany and Brazil maintained
double-digit growth. Car sales of Chinese car market, nevertheless, rose from 1.46 million
units in 2000 to more than 130 million units in 2009, almost increasing 10 times the size in 10
years.

Situation of the global car market in 2009 differed sharply. In addition to big decline of the
United States and Japan, most car market of developed countries gloomed, and some countries
such as Germany had to use auto replacement policies to stimulate the car market. Car market =
of developing countries also differed. Some countries were affected far more than developed
countries while in some areas the effect was relatively small. Financial crisis triggered by
subprime mortgage (£ 5% #X) of the US not only forced global auto giants integrated but
also injected new energy into global car market.

In 2009, in addition to the Chinese market’s growth of 45%, performances of other
countries like Brazil and India were also great. In 2009, car sales of Brazil broke 3 million
units for the first time, up 12% year on year. India car sales broke 2 million units for the first
time, an increase of 17% year on year. Car sales of Russia increased dramatically before,
however, it plummeted 61% year on year impacted by big fluctuation of oil price in 2009. As
a result, ranking of Russia in the global car market fell from No. 5 1n 2008 to 12th in 2009.

(@

19. What are the top five auto countries in 2009?

The top five auto countries are , USA, Japan,
and

20. What's the situation of the Chinese car market in 20097

Car sales in China rose from 1.46 million units 1in 2000 to more than 130 million units in
2009, almost the size 1n 10 years.

21. What policies did Germany have to use to stimulate the car market?

Germany had to use to stimulate the car market.

22. Besides Chinese market’s growth in 2009, which countries’ performances were also great? A

s performances were also great in 2009.

23. What made the car sales of Russia plummet 61% year on year?
The big fluctuation of in 2009 made the car sales of Russia plummet.
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